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Figure 4 (e)
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Figure 5 (a)
250 3 FoxO3a
130 e X 10+
FoxO3a
95 .. -.-. 97kDa z 8
72 2
$ 67
55 9 5 "
P — ACTIN B8
| 42kDa o -
36 W 0
250
e Int i 5 .
130 ——— — 118532“ Integrin o5
95 2.0
55 @ Z 154
ACTIN S
_—y ey - | S 104 —
36 S
S 0.5-
0.0
Lane 1 2 4
FoxO3a 2 8.5 2.9 11.8
Actin 57 45.1 30.1 37.3
Ratio 0.04 0.2 0.1 0.3
Normalized ratio 1 5 2.5 7.5
Lane 1 2 4
Integrin a5 5.2 6.9 1.4 2.5
Actin 54.7 54.4 70.7 75.2
Ratio 0.09 0.13 0.02 0.033
Normalized ratio 1 1.44 0.2 0.4

**

Figure 5 (b)

FoxO3a
250 T 15—
130 === . FoxO3a
95 .- ik 97kDa z
72 £ 10
©
8
55 & g 5
ACTIN o
L X X X 42kDa
3 .. 0-
250 == : Integrin a5
130 we S0 B0l o ;“;gfgg o3 2.0
95  ha > 1
£ 1.5-
55 . <
ACTIN S 40
e Gy W W T
36 - S 0.5
0.0-
Lane 2 3 4
FoxO3a 3.7 32.1 3.3 21.4
Actin 61.6 58.1 60.4 43.9
Ratio 0.06 0.6 0.05 0.5
Normalized ratio 1 10 0.83 8.3
Lane 2 3 4
Integrin a5 1 1.3 0.4 0.64
Actin 46.7 45.9 47.7 58
Ratio 0.02 0.03 0.008 0.01
Normalized ratio 1 1.5 0.4 0.5

**



Appendix A (f)
130
95 e - ' FoxO3a
97kDa
72
55 ..
—— e T
42kDa
36 .
Lane 1 2
FoxO3a 1 60
Actin 29.9 23.1
Ratio 0.03 2.6
Normalized ratio 1 87

Optical density

100+ * ok %

250

Appendix A (i)

* %k k%

*
*
*

-
100
Fox03
oo | 2 807
- = * %
e
3 40i
w 27
0 i
GAPDH o3 14 —
.-—--*-‘ 37kDa (@)
01
Lane 1 2 3 4 5 7
FoxO3a 1.1 1.1 74 1.2 82.2 1.8 100
GAPDH 8.51 7.40 14.3 7 10.2 13.1] 10.6
Ratio 0.1 0.15 5.2 0.17 8.1 0.14f 11.5
Normalized 1 1.5 52 1.7 81 1.4
ratio




250

130

95
72

55

36

Appendix B (a)

FoxO3a
1.2
> _
2
S 0.8
©
S
5 0.4
o
(@)
0.0 T
Integrin a5
1.2
2 _
2
0] 08_
©
3
= 0.4
Q
@]
0.0 T
—
Lane 2
FoxO3a 6 3
Actin 9.2 9.2
Ratio 0.65 0.4
Normalized ratio 1 0.46
Lane 2
Integrin a5 8.5 1.4
Actin 49,9 53.7
Ratio 0.2 0.03
Normalized ratio 1 0.2

*%

Appendix B (b)

* %k

FoxO3a

130 1.2+

95 Fy

< 0.8
©

55 ©

£ 0.4
(@]

36 0.0
250 Integrin a5
130 1.2

2
95 % 0.8-
©
72 =
O
55 g 0.47
(@)
——  e— 0.0
3 am
Lane 2
FoxO3a 2.2 0.67
Actin 1.7 1.3
Ratio 1.3 0.5
Normalized ratio 1 0.38
Lane 2
Integrin a5 4.8 39
Actin 46.8 442
Ratio 0.1 0.08
Normalized ratio 1 0.8




Appendix B (c)

250 &

130 Integrin B1
115-135kDa
95
72
55
pr— ACTIN
-— 42kDa
36 Ww
Lane 1 2
Integrin B1 25 18.5
Actin 98.5 74.7
Ratio 0.25 0.25
Normalized ratio 1 1

1.2+

0.8

0.4

Optical density

0.0

Appendix B (e)

36

e Integrin a5
e 150kDa
.
- FoxO3a
- 97kDa
- ..

GAPDH
. — 37kDa
Lane 1 2
Integrin a5 11.2 24.3
GAPDH 11.3 12.2
Ratio 1 2
Normalized ratio 1 2
Lane 1 2
FoxO3a 2.4 16
GAPDH 11.3 12.2
Ratio 0.2 1.3
Normalized ratio 1 6.5

Integrin a5
3_

N
1

-
1

Optical density

FoxO3a

E) o))
1 1

Optical density

N
1

* %




250
130

95

130 -
FoxO3a
B . e ® | 97kpa
72
55 s “
-—— d ACTIN
42kDa
36 P
Integrin a5
150kDa
Bl
y ACTIN
W G —— 42kDa
-
Lane 1
FoxO3a 4.8 183
Actin 29.1 334
Ratio 0.2 5.5
Normalized ratio 1 27.5
Lane 1 2
Integrin a5 1.2 2.3
Actin 39.9 47
Ratio 0.03 0.05
Normalized ratio 1 1.7

Appendix B (f)

_n

2
1 ®)
S W
] o

N
o
|

N
1

Optical density
[y
o

THE

T-47D

o
|

Integrin a5

6..

D
|

N
1

Optical density

T-47D/TR

o
|

T-47D

ﬂ-.

T-47D/TR

130 | — -

% - e

55 .

36 - L]

FoxO3a
97kDa

ACTIN
42kDa

Integrin a5
150kDa

ACTIN
42kDa

250

130

95

55

W — ——

36
Lane 1 2
FoxO3a 1.3 9.9
Actin 29.1 18.9
Ratio 0.04 0.5
Normalized ratio 1 12.5
Lane 1 2
Integrin a5 2.8 11.7
Actin 51.7 45.2
Ratio 0.05 0.3
Normalized ratio 1 6




130 e ¢
. FoxO3a
95 . - 97kDa
72 dlllb
55 - - o z
3 ACTIN
—— e— 42kDa
.-
250 Integrin a5
130w D Gl . - || 0o:
-
- ACTIN
42kDa
--—
b
Lane 2
FoxO3a 4 50
Actin 34.2 21.1
Ratio 0.1 2.4
Normalized ratio 1 24
Lane 1 2
Integrin a5 2 2.8
Actin 55.4 60.8
Ratio 0.04 0.05
Normalized ratio 1 1.2

FoxO3a
25—

(o0}

Optical density
N
o

o-Lem

Appendix B (g)

k%

I * I

ZR-75 ZR75/TR

Integrin a5

2_

[ERY
1

Optical density

o
|

ns T

ZR-75 ZR75/TR

250 =~
130 W= | Fox03a
97kDa
95 e - -
55 = -
—— S— ACTIN
42kDa
36 -
.
130 Integrin a5
150kDa
95 e
55 e
A SO
ACTIN
36 42kDa
Lane 1
FoxO3a 5 21
Actin 24.3 21.7
Ratio 0.2 1
Normalized ratio 1 5
Lane 1
Integrin a5 1.7 2
Actin 73.8 59.5
Ratio 0.02 0.03
Normalized ratio 1 1.5




Appendix B (1)

250

55

130 2
¢ FoxO3a
- I
L \

V.,

E— — ACTIN

42kDa
36 ® |
¢
Lane 1
FoxO3a 17.1 166
Actin 25.1 25.4
Ratio 0.7 6.5
Normalized ratio 1 9.3

_n
@]
o

|—\

o w

] o

Optical density
(@)]
|

% %k

250 ¥R ‘ Integrin a5
oL
130 ” - | 150kpa
95
Se
55 W
—-— — ACTIN
42kDa
36 B
Lane 1 2
Integrin a5 32.2 35.7
Actin 49.8 49.2
Ratio 0.65 0.72
Normalized ratio 1 1.1

Integrin a5
1.2

o
0
]

o
T

Optical density

o
o



250
130

95
72
55

36

Appendix C (a)

FoxO3a

97kDa
GAPDH
37kDa
Lane 2
FoxO3a 0.2 7
GAPDH 3.1 3.04
Ratio 0.06 2.3
Normalized ratio 1 38.3

FoxO3a

N w B
g9

Optical density

[ERY
o
1

o
|

* X

250
130

95
72
55

36

Appendix C (b)

FoxO3a
97kDa

GAPDH
37kDa

Lane

FoxO3a 0.2 6.2
GAPDH 3.8 3.8
Ratio 0.05 1.6
Normalized ratio 1 32

FoxO3a
40+

=

'g 304

5

.TL_? 20_

8— 10
0_

* %k *k



